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3.Selected comparative statement data for ABC Products Company are presented
below. All balance sheet data are as of December 31.

Items 2003 2002

Net sales $300,000 $720,000
Cost of goods sold 480,000 40,000
Interest expense 17,000 5,000
Net income ' 56,000 42,000
Accounts receivable 120,000 100,000
Inventory 85,000 75,000
Total assets 600,000 500,000
Total common stockholders’ equity 450,000 325,000

Required: Compute the following ratios for 2003.
(a) Asset turnover. 10%
(b) Return on common stockholders’ equity. 10%
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4. Query Company sells pillows for $25.00 each. The manufacturing cost, all variable,
is $10 per pillow. The company is planning on renting an exhibition booth for both
display and selling purposes at the annual crafts and art convention. The convention
coordinator allows two options for each participating company. They are:

1. paying a fixed booth fee of $5,010, or
2. paying an $4,000 fiee plus 10% of revenue made at the convention.

Required:

(a) Compute the breakeven sales in pillows of each option. 10%

(b) Which option should Query Company choose, assuming sales are expected to be
800 pillows? 10%

5.Copperstone Company has two divisions. The Bottle Division produces products
that have variable costs of $3 per unit. Its 20x3 sales were 150,000 to outsiders at $S
per unit and 40,000 units to the Mixing Division at 140% of variable costs. Undera
dual transfer-pricing system, the Mixing Division pays only the variable cost per
unit. The fixed costs of the Bottle Division are $125,000 per year. .

Mixing sells its finished products to outside customers for $11.50 per unit.

Mixing has variable costs of $2.50 per unit in addition to the costs from the Bottle
Division. The annual fixed costs of Mixing were $85,000. There were no beginning
or ending inventories during the year. '

Required:
What are the operating incomes of the two divisions and the company as a whole

for the year? Explain why the company's operating income is less than the sum of
the two divisions' total income. 20% T




